Corrigé du sujet L – LV1 – juin 02

Margaret Laurence, ‘The Rain Child’
I - COMPREHENSION/EXPRESSION 14 points
1. a. 
What type of narrative is this?      It’s a first person narrative.



(2points)

     
           
Justify with one quotation from the text. 

 
         
 “our conversations”(l.2)  “my bungalow” (l.2)  “I nodded” (l. 24)


(2 points)
       b.
Who is the narrator?  The narrator is Miss Nedden.




(2 points)

2. a.
Which other character is present in the scene?

 The other character present is Dr. Quansah.





(2 points)

       b.
Two other characters are mentioned. How are they related to the main character?

 (Give names when possible.)

The two other characters mentioned are Dr. Quansah’s wife, whose name

 is not given and his daughter, Ruth.






(4 points)

3. In which of these places is this scene set? (Circle the right answer.)



ENGLAND



AFRICA                                     

(2 points)

4. TRUE or FALSE. Justify your answer with a quotation from the text.
            (12 points = 2 x 6)
a) Ruth had a good command of her mother tongue.
F
“Why wasn’t she taught her own language?” (l.7)

“I  imagined she would pick up her own language easily, … as though the knowledge of one’s family tongue was inherited.” l. 11-13)

b) Dr. Quansah is a widower.
T
   “If my wife had lived” (l.13)

c) The doctor married for love.

F
   “My parents had chosen her” (l.19)

d) The doctor and his wife got on reasonably well at the beginning of their marriage. 
T
   “Our differences were not so great then” (l.20-21)

e) His wife was homesick.
T
   “my wife hated England” (l.18)

   “My wife missed the sun so very much.” (l. 35)

f) Their child was born in England.

T
   “She had not wanted to bear her child so far from home.” (l.36)

5. Which of the following ideas would you associate with Miss Nebben, with Dr. Quansah and which would you associate with both characters? Justify with one quotation. 
[ 12 points = (1 x 4) + (2 x 4) ]

	
	applies to 

(4pts = 1x4)
	Quotation (8 points 2 x 4)

	respect for social conventions
	both 
	At first our conversations were completely false,

   each of us politely telling the other…” (l.2-3) 

	      loneliness
	both
	  -“Have you any idea what it is like,…to need 

 someone to talk to…” (l. 28-29)

  “Yes, I said. I have a thorough knowledge of that.” (l. 30)



	guilt
	Dr. Quansah
	  -“it was my fault” (l. 16) ; “burden of self-reproach” (l. 24) 

	self-fulfilment
	Miss Nedden
	- “Hoping to find a place where my life could shine forth”

  (l. 43)


6.   Write a structured account of the evolution of Dr Quansah's behaviour and feelings. (10 points)
At first, Doctor Quansah conceals his anxiety about Ruth, he pretends that all is well.

He hesitates / he’s reticent/ reluctant / unwilling to speak until one day / then one day he decides to discuss the problem.

His physical attitude ( he knots his hands together ( reveals his anguish / his uneasiness / his pain.

He reproaches himself for the decisions he made about his wife and his daughter.

Despite his initial reluctance, he gradually voices his uneasiness and guilt. 

Finally / eventually, he decides to express his true feelings. He gains confidence and feels relieved that he has found someone who understands him.

On attend des étapes détaillées (5 points) et des  mots de liaison adéquats (5 points).

1) pretence  2) reluctance, uneasiness  3) relief

7.   What difficulties did Dr. Quansah’s wife encounter while they lived in England?


(4 points)

Difficult integration (she felt excluded, she didn’t participate in her husband’s social life).

Isolation (due to illiteracy.)

Depression, homesickness, sickness.

8
 Quote the metaphor the doctor uses to illustrate one of his wife’s problems.


(1 points)
“She was like a plant” (l.21)

9.
Explain his choice of this metaphor.







(3 points)
His wife is compared to a plant that has been uprooted and transplanted. She finds herself in

 an unfavourable climate that does not allow her to blossom. She wilts and dies.

10. Comment on the symbolism of the African name chosen by the mother.



(2 points)
The mother chose a name that reflected her sadness, her tears and the English climate with its rain.

11. Determine the idea conveyed by WOULD in each quotation.

a.“Each Friday…he would call in at my bungalow for a few minutes to discuss her progress” (l.1-2)

Past habit, one of the main characteristics of the subject (accepter toute formulation cohérente 

avec l'idée de caractéristique du sujet). 






(3points)
b. “I was determined that the same thing would not happen to Ruth.

Intention.










(3 points)
c. "[…] I imagined she would pick up her own language easily.” (l.11-12)

Prediction. accepter également "conviction, certainty " car il s'agit d'une prédiction basée sur une reconstruction du passé.








(3 points)

12. “My parents had chosen her and I had married her when I was a very young man, before I first left this 
country." (l. 19-21)
Explain the use of the underlined verbal form in this context.




(7 points)
Doctor Quansah assesses the situation he was in when he was a young man, he evaluates, he examines the consequences, the results. He's also trying to explain or justify his attitude. 

(N'attribuer que 2 points sur 7 si on n'a que l'idée d'antériorité).
13. Account for the use of the auxiliary DID in “when he saw that I did know”(l.31).
 
(6 points : 3+3)


“Did” takes up the idea that Miss Nedden knew what Dr. Quansah was talking about, contrary 

to what he expected. Dr. Quansah supposed, in fact, that she didn’t know what he was talking about.


It confirms, emphasises, stresses the fact that Miss Nedden knew what he was talking about.
14. Choose one of the following essays (250 words) 





60 points


a) Have you ever been in a situation in which you felt out of place, uncomfortable?


b) Would you say being uprooted from one’s country is an upsetting experience or an enriching one?

II -
TRADUCTION  (l.28 à l.36)
(60 points)

Anglais



Traduction




      Points

Have you any idea


( Avez vous idée de






( Pouvez-vous seulement imaginer



1

what it is like,


ce que c’est,






2

he cried



s’écria-t-il






1

“to need someone to talk to,
d’avoir besoin de quelqu’un à qui parler



2

and not to have even one 

et de n’avoir absolument   (2 pts)

person?



personne.






3 (1+2)

“Yes”, I said. “I have a 

( Oui, dis-je. Je sais parfaitement (2 pts) de quoi vous

4 (2+2)
thorough knowledge of that.”
voulez parler. (Je sais exactement ce que vous voulez dire.)

He looked at me in surprise,
Il me regarda, surpris





2

and when he saw


et quand il vit qu’en effet (2 pts)



4 (2+2)

that I did know,


je comprenais,

he seemed oddly relieved,

il sembla curieusement / étrangement soulagé


3

as though,



comme si,






1

having exchanged vulnerabilities
ayant échangé nos points faibles / fragilités, (2 pts)

5

we were neither of us endangered
nous n’étions plus, ni l’un ni l’autre (2 pts), en danger.

4

“When she became ill,”

( Lorsqu’elle est tombée malade,



1

he went on,



continua-t-il,






1

“I do not think


je pense qu’il lui était 





2

she really cared


vraiment égal 






2

whether she lived or not.

de vivre ou de mourir.





1

And now, Ruth


Et en ce qui concerne Ruth,




2

-you know,



vous savez,






1

when she was born,

à sa naissance,






2

my wife called her 


ma femme lui a donné





2

an African name


un nom africain






1

which means “child of the rain” 
qui signifie/ “l’enfant de la pluie.”



2

My wife missed the sun 

Le soleil manquait tellement à ma femme.


2

so very much.

The rain, too, may have stood
La pluie, aussi, représentait-elle peut-être


2

for her own tears.


ses larmes.






2

She had not wanted 

Elle n’avait pas voulu





1

to bear her child


accoucher / avoir son enfant




2

so far from home.”


si loin de chez elle.





2

Rappel du barème

	Questions
	Points

	
	1
	a
	4

	
	
	b
	2

	
	2
	a
	2

	
	
	b
	4

	
	3
	
	2

	
	4
	2 x 6
	12

	
	5
	(1 x 4) + (2 x 4)
	12

	
	6
	5 + 5
	10

	
	7
	
	4

	
	8
	
	1

	
	9
	
	3

	
	10
	
	2

	
	11
	3 x 3
	9

	
	12
	
	7

	
	13
	2 x 3
	6

	
	14
	
	60

	
	
	Total compréhension
	140  

	
	
	Traduction
	60

	
	
	Total
	200  
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